






HOMEWORK

FIND THE ERROR:

They had tried to win 

deceptively and this resulted 

in both failing or destroying 

others.





WORD POWER

Isolation

The state of being separate and 

alone

Exhaustion

The state of being extremely tired



LIC AAO 

Fillers

1. Since the goal is a tough one, you will need 

a lot of _____ to reach it.

1.Zealous 

2.Jealousy 

3.Thirsty 

4.Zeal 

5.Anger

Correct Option - 4



2. Staring up at the odd-looking statue with a puzzle, 

the children ________who made it and what it

stood for. 

1.Wonder 

2.Wondered 

3.Would 

4.Wondering

5.Agitate

Correct Option 2



3. During the monthly meeting, the company 

president will present an _______to the employee of 

the month.

1.Reward 

2.Accolade 

3.Aim 

4.Report 

5.Gift

Correct Option - 2



4. Although she is _______ well rounded, Rakhi is 

definitely a much stronger reader than she is a 

mathematician.

1.Physically 

2.Academic 

3.Politically 

4.Academically 

5.Philosophically

Correct Option - 4



5. Since the police will not help her, Helen is going to 

abduct her daughter from the _______cult.

1.Cultural 

2.Provincial 

3.Harmful 

4.Delightful 

5.Harmless

Correct Option - 3



CONJUNCTIONS



EXAMPLES 1. She will lose weight provided that she works 

out hard.

2. You will not be able to salvage the situation 

unless you devote all your resources to it.

3. Although he is poor , he is involved in many 

charitable activities.

4. I do not doubt that he will pass the exam.

5. He not only lied to them but also cheated 

them.





RULE 1
• He is not so intelligent as you.

• He is as intelligent as you.

• Note : So…….as is used in negative sentences.

• As…….as is used in affirmative sentences.



RULE 2
• Wait here until you get my call.

• Unless you work hard , you will not 

qualify this test.

• Note : Until is time oriented. 

• Unless is action oriented.



RULE 3
• Either of the parties has enough support to 

form a government.

• One of the students of your class is responsible 

for this tragic incident.

• Neither of means none of the two

• None of is used more than two

• Either of means one of the two

• One of is used when more than two is concerned





RULE 4 • He has no other objective than to get a lucrative 

job abroad.

• She would rather buy a car than a moped.

• After rather/other , Than should be used.





The student leader (1) / was also fined (2)/ and 

expelled (3) / because of his past actions. (4)/ No 

Error (5)

A.1

B. 2

C.3

D.4

E. 5

Solution : Also will be replaced by both



As we are doing project as a team (1)/ so we have to share 

(2)/ ideas with each other (3)/ to overcome problems easily. 

(4)/ No Error (5)

A.1

B. 2

C.3

D.4

E. 5

Solution : Remove so or as



Although he was (1) / invited at the last minute (2)/ he 

could not prepare properly (3) / for the seminar. (4)/ No 

Error (5)

A.1

B. 2

C.3

D.4

E. 5

Solution : The sentence is trying to establish cause and 

effect not a contrast. So we use the conjunction ‘since’



We  (1) / stayed in  (2)/ that village (3) / since two days . 

(4)/ No Error (5)

A.1

B. 2

C.3

D.4

E. 5

Solution : Use ‘for’ instead of ‘since’. Since is used for 

pointing a starting point while ‘for’ is used for referring 

to a particular duration.



As a consequence of this action , (1) / as fast as the poison  

(2)/ reached the stomach , (3) / the bird suffered severely . 

(4)/ No Error (5)

A.1

B. 2

C.3

D.4

E. 5

Solution : As there is no comparison made, Remove ‘as 

fast as’ As soon as conjunction means Something will 

happen immediately after something has happened



There is growth potential (1) / in the banking sector , (2)/ 

but , the rural masses (3) / have the habit of saving. (4)/ No 

Error (5)

A.1

B. 2

C.3

D.4

E. 5

Solution : It should be ‘because’ which shows reason 

instead of ‘but’ which is used to show contrast.



Sunni jihadist , a terrorist group (1) / with a particularly 

violent ideology (2)/ also known like (3) / ISIS and ISIL , 

was inspired by Al Qaida. (4)/ No Error (5)

A.1

B. 2

C.3

D.4

E. 5

Solution : ‘Like’ is used to compare. When you are 

naming something use ‘as’



Although the first half of (1) / the play was boring ,  (2)/ 

but it’s second half (3) / pulled it off. (4)/ No Error (5)

A.1

B. 2

C.3

D.4

E. 5

Solution : Whether use(,) to show contrast or “But’



The most frightening periods in history (1) / have often 

been moments (2)/ between the death of one king (3) / to 

the rise of the next. (4)/ No Error (5)

A.1

B. 2

C.3

D.4

E. 5

Solution : ‘to’ will be removed To specify a period we 

should use ‘Between’



HOMEWORK

FIND THE ERROR:

He was transported back to 

his youth he saw a group of 

college friends hanging out 

together.




